Integer Addition Matching (with partners)

Grab a partner! Have one person complete the questions in column A and the other complete the questions in
column B. Write the letter of the matching answer from column B on the line next to the number from column

A. The first one has been done for you.

Column A Column B
M 1 —43 +21 29 A — 38 +11
2. =3+ (-9) B. 75 + (=51)
3. 26 +(=50) c —98 + 73
4. 18 + (-9) p.— 12 + 25
5 — 15 + 37 g 36 +(—80)
6. —13+(—12) P — 18 + 18
7. — 59 + 44 c.— 35 + 72
8. 87 +(=53) n—2+(=-7)
9. 18 + 6 . — 30 + 39
0. — 13 + 30 g 13 +(=29)
1. —204+(=7) k —43+(-11)
. 23 +(-9) L —24+(-13)
3. 460 +(—46) M 38 +(=60) -22
14, — 8+ (—8) N.— 76 + 48
5. — 76 + 89 o. 19 + =31
6. — 98 + 89 p. 24 +(—10)
7. 71 4+ (—=60) 0. —12+(-12)
8. 10 + (—64) R 36 +(—25)
9. —31+(—13) s — 41 + 75
20. =9+ (-19) . 17 + 5



